RED nch
R >
<

ATTACK STUBBY WINCH

FRONT BUMPER

(2007-2021 Wrangler JK, JL)

INSTALLATION INSTRUCTIONS

CONTENTS
Bumper (12) M4 x 0.7 x 15mm Screws
Over-Rider (12) M4 Lock Washers
Block Off Plates (20) M4 Flat Washers
D-Rings (8) M4 Nuts
Bolt Plates (4) Plastic Stud Retainers

Fog Light Adapter Brackets
M12x1.75 35mm Hex Bolts
M12 Lock Washers
M12 Flat Washers
M12x1.75 Nuts
M10x1.5 25mm Allen Bolts
M10 Lock Washers

) M10 Flat Washers
M10 Nuts

PN e e Y Y = — — — —

(1
(1
(2
(2
(4
(2
(4
(8
(8
(4
(6
(6
(1
(6

TOOLS REQUIRED

Ratchet

Socket Set

Torque Wrench

Allen Wrench

Trim Panel Removal Tool

SKU # J126729/J126730



"
REDROCK =
X

STEP 1 (JK)

Remove the (6) plastic push pins securing the factory splash shield to the vehicle. (4) Across the
front edge, (2) on the rear edge.

— =

~ g ) 7 0
i ({1 AT (AT LT
[CCCCC A\ \

(L mmﬂ“"“lﬂ'h

A

STEP 2 (JK)

From under the vehicle, remove the factory fog light connectors and free the fog light wiring loom
from the bumper.



"
REDROCK=
X

STEP 3 (JK)

From under the vehicle, access and remove the (8) 18mm nuts securing the factory bumper to
the vehicle.

STEP 4 (JK)

From under the vehicle, access and remove the (8) 18mm nuts, and (4) 18mm bolts securing the
factory bumper to the vehicle. Then fully remove the bumper from the vehicle.



RED 00K<r
R <
<

STEP 1 (JL)

Remove all the plastic push clips from the backside of the bumper using a panel removal tool.
Use the (2) 8mm bolts from the bottom of the plastic splash shield under the vehicle.

STEP 2 (JL)

With the plastic shields removed, unplug the main fog light connector from the passenger side frame
rail to disconnect both fog lights. Remove (8) 18mm nuts from the original bumper. Remove the
bumper from the vehicle.



RED ncK¢
R <
<

STEP 3 (JL)

Remove (4) 16mm bolts to remove the inner and outer bumper support brackets.

el

TS

STEP 4 (JL)

Remove (2) 16mm bolts from the vehicle’s skid plate. Lift and remove the skid plate from the vehicle.



"
REDROCK=
X

STEP S

Remove the (8) 7Tmm screws securing the fog lights to the factory front bumper.

STEP 6

Install the fog light adapter brackets using (2) M4 Bolts, (2) M4 Flat Washers, and (2) M4 Lock Washers
per fog light.



"
REDROCK=
X

STEP7

Install the factory fog lights using (4) M4 Bolts, (8) M8 Flat Washers, (4) Lock Washers, and (4) Nuts
per fog light.

STEP 8

Install the nut/bolt plates to the bumper. Secure the plates to the bumper using the plastic retain-
ers, these will hold the plate in place while securing the bumper to the vehicle. Bolt the bumper to
the vehicle using (2) M12 Bolts, (2) M12 Nuts, (4) M12 Lock Washers, (4) M12 Flat Washers per side.



RED 00K¢
R o
<

STEP9

Install the Over-Rider to the bumper using (3) M10 Allen Bolts, (6) M10 Washers, (3) M10 Lock
Washers, and (3) M10 Nuts per side.

STEP 10

Install the supplier D-Rings to complete the installation.



	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-01
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-02
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-03
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-04
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-05
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-06
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-07
	J126729 - RedRock 4x4 - Stubby Winch Front Bumper (07-21JK)-08

